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S i . (i i
pecific Instructions : (i) There are total eight questions in two Sections

) printed in both Hindi and English.
Aa* )~ (1i] Answer fi esti lecti 1
V\l.\ 25 ey . ve questions, selecting at least two
( ] tn” questions from each Section.
5 s (iii) Marks are given against each part of the question.

(iv) All questions carry equal marks.
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tonal derivative of the function xy? + yz* + zx* along the

ﬁ\ ‘sentvector to the curve ;- (t, t%, t*) at the point t = 1.
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A partlcf‘e moving in a parabola witluniform angular Vvelocity about
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A body, moving in simple harmonic motion, has an amplitude ‘a’ and

periodictime ‘T”. If the velocity is trebled when the distance from mean

position is _23‘1 the periodic time being unaltered, find the new amplitude.
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A particle moves with a central acceleration which varies inversely as
the cube of the distance. If it is projected from an apse at a distance ‘a’
from the origin with the velocity which is /2 times the velocity for a

circle of radius ‘r’. Show that the equation of it’s path is rcos(%) =a .
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Asmooth sphere of radius ‘r’ and weight ‘W’ rests in a horizontal ¢j reul
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hole of radius “a’. A string is wrapped once round the Sphere just abgye

the hole and then pulled tight. What must be the tensigp, in the string

5o that it will just raise the sphere ?
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Three forces act along the str

aightlinesx=0,y-z=a;y=0,z-x =a;
z=0,x-y=0.Show th

atthey ¢4n not be reduced to a single couple.
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A non uniform string hangs under gravity. It’s area of cross section at

any pointis inversely proportional to the tension. Show that the curve,
in which it will hang, is an arc of a parabola with it's axis vertical.

20

pA S
N\Cgd) '
e |
. RUSE
= o +
1\ - \/ W){\ \)4 \M{J
N\ D N M\n/*\ '
\hﬂ/ -
Yy 1 <&

Downloaded from: http://studymarathon.com/

Scanned w canner


www.studymarathon.com

